CFD FLOW SIMULATION

WINDSHIELD NG SPORT
REF.20795

MIC TEST
ED TRIPLE 1200 RS
2021 -

AERODYNA
TRIUMPH SPE

Fevicy >




CFD FLOW SIMULATION REF.20795

AIR FLOW & PREASSURE COMPARISON

V= 7/ >
o E M Hi-Tech Partsg
WITHOUT SCREEN WINDSHIELD NG SPORT

HELMET PROTECTION HELMET PROTECTION
(1 D) (Qo% D)
UPPER BODY PROTECTION UPPER BODY PROTECTION
@% D) (19% D]
LOW BODY PROTECTION LOW BODY PROTECTION
(53% T (84% )

LOW PRESSURE HIGH PRESSURE

TOTAL DISSIPATED PRESSURE WITH PUIG SCREEN IS EQUIVALENT TO 0.876Kg

INCREASE WIND PROTECTION

26 % WITHOUT LOSING Cx

AERODYNAMIC TEST CONDITIONS

VSPEED 150 Km/h 94 mph
RIDER HEIGH 180 cm 5.9 ft
TEMPERATURE 20¢° 68°F
RIDER POSITION Standard
LATERAL WIND N o

Fevicy >




(T4

Hi-Tech Parts

M OUNTING

WINDSHIELD NG SPORT

www.puig.tv
WWW.pUIgUSsa.com

I NS TRUCT

info@puig.tv
info(@puigusa.com

O N S

lnl \

1 Person .
{ =Ty )
il EEAC v
=3 ™ — :
S L !
j ALLEN
15 min
N° 3
EASY g
—
ID. PIEZA/PART DESCRIPCION DESCRIPTION QTY. REF.
1 Clpula sport Sport screen 1 20795W/H/N/FM3
2 Soporte metalico Metal suport 1 SOP1P6----20795
3 l))) Tornillo allen M5x11 11 1SO 7380 M5x11 11 1SO 7380 allen screw 2 TORNI-AI----520
4 @_)) Silentblock @12x@6x9 B12xB6x9 silentblock 4 AROPASACABLES-3
5 @] Casquillo con valona @12xJ6,8x7,3 D12x26,8x7,3 bush with flange 4 CASQUI-1A---750
6 ))))) Tornillo allen M5x16 @11 ISO 7380 M5x16 11 1SO 7380 allen screw 4 TORNI-17380-493
7 @ Tapon tornillo M5 1SO 7380 M5 ISO 7380 screw cap 4 TAPON-------- 85

Pg.1/2




P"ig WWW.puUig.tv

Hi-Tech Parts WWW.puigusa.com

info@puig.tv
info(@puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

1

DISASSEMBLY
DESMONTAJE

) .

SN -

2

ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE




CARENABRIS NEW GENERATION

SPORT

www.puig.tv info(@puig.tv

WWW.pUigusa.com info(@puigusa.com

20795N +120mm/+4,72in

20795W +120mm/+4,72in

275 mm

evicy >





